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Name: __________________________________



1
Which expression represents [image: image1.png]122 - 62 4 2x
I



 in simplest form?

2
The expression [image: image2.png]ot - 272
i



 is equivalent to

3
Which expression is equivalent to [image: image3.png]- 1axt v 2n?
P



?

4
Which expression(s) are equivalent to [image: image4.png]


, where [image: image5.png]x#0



?

I. [image: image6.png]il



     II. [image: image7.png]


     III. [image: image8.png]




5
Which expression represents [image: image9.png]- 12
=6



 in simplest form?

6
Which expression represents [image: image10.png]25x-125

-25



 in simplest form?

7
For all values of x for which the expression is defined, [image: image11.png]243
X4 5x46



 is equivalent to

8
Which expression represents [image: image12.png]


 in simplest form?

9
Which fraction represents [image: image13.png]


 expressed in simplest form?

10
Which expression represents [image: image14.png]


 in simplest form?

11
Written in simplest form, the fraction [image: image15.png]


, where [image: image16.png]


, is equivalent to

12
The expression [image: image17.png]2+ 10x-28
Ax+ 28



 is equivalent to

13
Which expression represents [image: image18.png]X - 5x+6



 in simplest form?

14
If the area of a rectangle is represented by [image: image19.png]x4+ 8x+ 15



 and its length is represented by [image: image20.png]


, which expression represents the width of the rectangle?

15
Express in simplest form:  [image: image21.png]450*b’ - 902’8
1548





16
Express in simplest form:  [image: image22.png]




17
The area of a rectangle is represented by [image: image23.png]


.  If the width of the rectangle is represented by [image: image24.png]N



, express the length of the rectangle as a binomial.

18
For all values of x for which the expression is defined, [image: image25.png]2+ 22t -9x- 18




, in simplest form, is equivalent to

19
Which expression can be rewritten as [image: image26.png](x+ Tx-1)



?

	1)
	[image: image27.png](x+ 37 - 16





	2)
	[image: image28.png](x+ 3% - 10(x+3) - 2(x+ )+ 20





	3)
	[image: image29.png](x- D& -6x-7)
Ge D)





	4)
	[image: image30.png]o+ D +4x+3)
[eT5)







20
For all values of x for which the expression is defined, write the expression below in simplest form.

[image: image31.png]




21
Written in simplest form, [image: image32.png]


 where [image: image33.png]


, is equivalent to


1
ANS:


[image: image34.png]6x2 — 3x+ 1
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ANS:


[image: image36.png]3x(1 - 3x%)




[image: image37.png]oxt - 27°
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ANS:


[image: image38.png]9xt 41




[image: image39.png]'t
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4
ANS:


I, II, and III

[image: image40.png]


  [image: image41.png]
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5
ANS:


[image: image42.png]2x
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6
ANS:


[image: image44.png]25
x+5
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ANS:


[image: image46.png]x+2




[image: image47.png]243 x(x+3)
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8
ANS:


[image: image48.png]
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[image: image50.png]x4
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[image: image52.png]



[image: image53.png]=15 _@-5E+3) x-5
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ANS:


[image: image54.png]



[image: image55.png]x(x*-9)
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ANS:


[image: image56.png]
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ANS:


[image: image58.png]
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[image: image60.png]
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ANS:


[image: image62.png]3a2b? - 6a



.  [image: image63.png]453 — 904°, 4p3 2,
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ANS:


[image: image64.png]


.  [image: image65.png]o1 @lE-D
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ANS:
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ANS:


[image: image67.png]
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ANS:
1

1) [image: image69.png](x+ 3 -1
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;  2) [image: image70.png]u=x+3
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;  3) [image: image71.png]G- DE-DE+1)
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;  4) [image: image72.png]G+ D+ Dix+3)
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